
Sample Question Paper-1
BIOLOGY (044) Theory

Class-XI, Session: 2023-24

Time Allowed : 3 hours 
Maximum Marks : 70 

General Instructions 

1. 

r. All questions are compulsory.

ii. The question paper has five sections and 33 questions. All questions are compulsory.

iii. Section-A has 16 questions of l mark each; Section-B has 5 questions of 2 marks each; Section-Chas 7 questions of 3 marks

each; Section- D has 2 case-based questions of 4 marks each; and Section-E has 3 questions of 5 marks each.

iv. There is no overall choice. However, internal choices have been provided in some questions. A student has to attempt anly one

of the alternatives in such questions.

v. Wherever necessary, neat and properly labeled diagrams should be drawn.

Section -A 

Different cells have different sizes. Arrange the following cells in an ascending order of their size. Choose the 
correct option among the followings: 1 

(i) Mycoplasma (ii) Ostrich eggs (iii) Human RBC (iv) Bacteria

Options:

(A) (i), (iv), (iii) & (ii)

(C) (ii), (i), (iii) & (iv)

(B) (i), (ii), (iii) & (iv)

(D) (iii), (ii), (i) & (iv)
2. Given below are the types of cells present in some animals. Each one is specialised to

function except:
perform a single specific 

1 

3. 

(A) Choanocytes (B) Interstitial cells (C) Gastrodermal cells

Match column A with column B and choose the correct option:

Column A Column B 

(a) Porifera (i) Canal system 
(b) Aschelrninthes (ii) Water-vascular system 
(c) Annelida (iii) Muscular Pharynx 
(d) Arthropoda (iv) Jointed appendages 
(e) Echinodermata (v) Metameres

.. ... 
(A) a-u, b-w, c-v, d-1v, e-i (B) a-ii , b-v, c-iii, d-iv, e-i
(C) a-i, b-iii, c-v, d-iv, e-ii (D) a 1• b v .. · d · .. 

(D) Nematocytes
1 

4. 
- , - , c-m, -1v, e-11 

A plant shows thallus level of organisation. It shows rhizoids and is haploid. It needs water to complete its life cycle
because the male gametes are motile. Identify the group to which it belongs to: 01] 1
(A) Pterltlophytes (B) Gymnosperms (C) Monocots (D) Bryophytes

5. Rearrange the following zones a • th t • · al · 

6. 

s seen m e roo m vertic section and choose the correct option
(I) Root hair zone (II) z 
(III) Root cap zone

(V) Zone of elongation

Options:

(A) ID, II, V, I, IV (B) I, II, III, IV, V
In frog, digestion of fats occurs mostly in: 

(A) Rectum (B) Stomach

one of meristems 
( IV) Zone of maturation

(C) IV, V, I, III, II (D) V, IV, III, II, I

(C) Duodenum (D) Small intestine

1 

C 
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